
Λύσεις Κριτηρίων Αξιολόγησης

30

Φυσική  Γ’ Λυκείου

0
00 1 0

L L
2 2t 1m /s

2

2A
L0 Mg L L 40
2

y 1 2 y y y
40F 0 w F T F N
3

1 1 1
10m g
3

2 2
x y

12400F F F F 37N
3

 

           

ii  
2

2 21
1 2 1 1 1 1

1

1 pm p 2Km
2 2m

, 2
2 2p 2Km

2 2
1 2 1 2

2 2
1 2 1 2

2
1 2

: P P p p m m V

2Km 2Km m m V
1 m m V
2

2% 100% 100% % 50%
2

i

y, 2 2F 0 w T mg

1 1
L0 L Mg mgL 0,4 g 0,8mg (1)
2

2 2 2 2
x x 1x 1 x y 1x 1y y 1yF 0 F T , F T F F T T F T

y y 1y 1F 0 F T Mg mg 2T Mg mg (2)

2 0,4 g 0,8mg Mg mg 0,64 g 1,28mg g mg 9M 7m

i
2

2
2 2

mF w m g gd
d

2 2
2 2 2 2 2

1 1: m
2 2

1 2
2 0 0 0

1 2 2 2

2m 6m 3
m m 3m m 2

,

1 2 1 0 1 0
2

mL m d d d
3 3 105 5

0 R 10rad / s
2

2
min ming g R g 0

R
2 2

max A maxg R g 20m /s

21h gt t 0,4s
2

t 4rad 2
2

2 2
o y

2 22 R gt 2 5m /s

y 0

0

2 63
2

2
y

dU dw mgdy mg mg t
dt dt dt

dU 2J / s
dt



Λύσεις Κριτηρίων Αξιολόγησης

31

Φυσική  Γ’ Λυκείου

y y 1y 1F 0 F T Mg mg 2T Mg mg (2)

2 0,4 g 0,8mg Mg mg 0,64 g 1,28mg g mg 9M 7m

i
2

2
2 2

mF w m g gd
d

2 2
2 2 2 2 2

1 1: m
2 2

1 2
2 0 0 0

1 2 2 2

2m 6m 3
m m 3m m 2

,

1 2 1 0 1 0
2

mL m d d d
3 3 105 5

0 R 10rad / s
2

2
min ming g R g 0

R
2 2

max A maxg R g 20m /s

21h gt t 0,4s
2

t 4rad 2
2

2 2
o y

2 22 R gt 2 5m /s

y 0

0

2 63
2

2
y

dU dw mgdy mg mg t
dt dt dt

dU 2J / s
dt

2d dmg mg 1Nm
3 3

0

. :

2 22d 2d 1 1mg mg mgd m m
3 3 2 2

2 22d 2d 1 d 1 2dg g gd
3 3 2 3 2 3

2d2rad / s , 4m / s
3

. :

d 2d d 2dm m 4m 2m
3 3 3 3

2 2 2 2d 2d d 2dm m 4m
3 3 3 3
5 5

12 6

.
2 2 2 2

B
1 1 1 1Q m m 4m 2m
2 2 2 2

2 2 2 21 d 1 2d 1 d 1 2d 7Q m m 4m
2 3 2 3 2 3 2 3 12

T 2t 1,2 s
2 2

           

(ii)

0 0 0x ( )
2



Λύσεις Κριτηρίων Αξιολόγησης

32

Φυσική  Γ’ Λυκείου

2d dmg mg 1Nm
3 3

0

. :

2 22d 2d 1 1mg mg mgd m m
3 3 2 2

2 22d 2d 1 d 1 2dg g gd
3 3 2 3 2 3

2d2rad / s , 4m / s
3

. :

d 2d d 2dm m 4m 2m
3 3 3 3

2 2 2 2d 2d d 2dm m 4m
3 3 3 3
5 5

12 6

.
2 2 2 2

B
1 1 1 1Q m m 4m 2m
2 2 2 2

2 2 2 21 d 1 2d 1 d 1 2d 7Q m m 4m
2 3 2 3 2 3 2 3 12

T 2t 1,2 s
2 2

           

(ii)

0 0 0x ( )
2


